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 &�� � �� ( �����"��" �� �<�� f�-M� �;�8 562$ ��2� ,T �� )��N��'P) �EC92:1375.(  

%�� i2"2� ,��� �� ,2%���Z��Lj� ��E� �6�.T 	�$ ���EC �C �6� Z%�� �$ ����� �� 	(� �E$� �C 

���+� �� /��! ��� &� 	�$ ���� �-�. ( ������ ��1 �E1�� .���+ �� H)E� )�� �����282� 	��� �C �� ���2��. 

	�$ &�M� ��� �� �% �� ���� ( ��� &� Y4�M� �� ���2��. �L�T 	�8 �� �
� N/��T ��  56�L� 	��F��

 N5%� 5�2M. ("��E� �6�.T" �� l2�
����� �EP �$ .�21 5%� ��� 	�$ 	�*6� )�� 	��� ,�282� 

�28( �-1�� 	( N�1�� ��$ ��2F ��6� �6 �� ��4{� �L�T �����)	��28 ���*6 ( �(�+ �6��� NH��30 31 :

1384�� .( �K� ,�2���% )�� �6�1 Y�"��;! N�F��2��. 	��-+��� �6 #�<;�� 	�6b��� /�K� ���2��. �0E� �� 

,�C�2C ���+ �� ���. ���)-62C�� .�21 )�� ?6��F ,��-.� ,�282� �� ���+ �� H)E� ( 	�*1�.�� �� �1�� �� 

�6(��6(� e6�=( �� ��E$����T �� N�
-+)����78:1386.(  

����*� V5%� � -;� �E��!�%���+� ��M� �"�� 	�$���� ( �$ 	��� ( ���$)� ���1 X$ 5%� ( N�LE! 3(� 

	�$ ��6 �� ?EC�( 	��� ��1 �-+�F �6� ����*� �$ ( f�
� �$ �� ,��T Y(�B-� 5%� .���2��. �� ,�2E� 

g�
� 	��F��6 ,���282�  ���(� �� 	���$)� �r�� 5%� ( �|2�;� �28( g6��1 �6� �� ���2��. 782� l��!�� 

�)� ,�����+ �� �� �21:   

9�� (	���$)� �6�% ���+� ���2��. �6 ���+ �=4.� ( �'��� ,�2� V�L�T  

l (,�� + �6���( �� �r� Y2+ �6 ~4{ �6 f�! V�*6��6  

y (�28( 	��F��%�� �� NH)E� ��K� �<'% 	�F �6 	��*-:% ?�� �� �� H2�;� ��6 	�\�� �� V���2��.  



110                                      �
��)�� *������ � ��–  ���-�48 – ���23�4 99 

� (	�$��M+ 	��O-=� ��K� 	����� ( ��T�� N	����)�+�C��131:1384.(  

56( D�� ( ),�����$1997�� ( ?$(@� ,�M6�$ ,��� ���C ��� :�tC� �!|� � �C �E��� �� ���+ �� H)E� 

�-12� ��1N��� �� �K� �%��� �� ��%� �6�K� 	����� ��2$ ��  H�%1973 /�0�� ��1 5%� .	( ��6�� ���+ 

�� H)E� �� �� (�  ?:�"�� ���+"  ("�� ���+" ��  .�E��"�� ���+" �6�L�T �E-�$ �C �� &��� �28( Y4�M� 

�� ,�ME6���( �� ��)6�F  ("�� ���+" �6�L�T �E-�$ �C lb8 Y���0�$ ( 5���b8 	�$ ���. hE$�+ 	�$ 

�� ������. ��21 .&6��! �� ���+ �� g�
� �� ��2� ,�28 �$ U2O:� ���+� 12 ���% �! 20 	2= ���% �! ( 

	�8 �! 5%� .���+ �� ���. 	��� N,�282� �0�-� D6 ����� ���S�� ( &
E6| 	��� ( ���2��. D6 ����� 

p2��� �� g��(� &�� -� ( 	��� �;��8 D6 ����� 5%� ����-8� .���+ ,�282� �� N���. D6 &�M� ( &\;� 

��� ( ��2�� 4-�� �� ��L� V5��� ���2��. ��( �2�� 	���1T �� �28( ����� 	� ���� �! ( ���S�� �! �� 

/�� �����  p��!��,���282� �� �6���( 5%�. )�$(�1996�� ( �;��8 ��6��T ���+ �� ���. �� l�!��� 5�2M. 

�*��. �-���� 5%�. �6�K� 	 ?EC�( ����-8� ���(��$ ( �6(�� Y2�� �� �6� U2O. � -;� 5%� �C  ��

���2��. 	�$ ,������� 5��+ ����-8� 	��� �;��8 	�6b� X��% ,�����+ �28( ����� ���1 ( g��(� �O:1 

�� XL� �*-:6� ,T 56��� ���EC.N	�L� ( ,��%(��+)1393:93.(  

2n�� ( ,�����$ �� ?$(@� �2. �E-+�6�� �E��� 	�$ �� 	��-+� �� ���2��. ( X$ H4 -%� ��EP ���(� 

N,���282� ,T �$ �� ����( �� �6��� �! �� �2KE� 56��� 	�$ U�. �6)*6�8 �� �6�$ ���! �E6��� .�$�21 

&��= �K�4� 	� �28( ���� �C ���;! &��= �L82! ,���282� �� 	���+ �� &��� g6��1 7%�E��� �F��2��. 

���. ,�M6�$ �� f�! �� �E6��� .�� �E��� �6� 2n�� �� �%��� N�2. �<. 	�8 }2% ���B-%� 	�$ ���8 ( 

��E8 �� ,�M� �� �$�)Bao, et al., 2000: 408-420(.  

)��� 	���1381�� ( �%��� �2. 5+�6�� �C �F��� �� 	������ �6 �28( N	����� ,�����+ ��6� �� 

N���2��. �2�� ��6 �� �6���( �� &��� ~4{ �6 NY2+ �28( ��-;� ���+� �� N���2��. XC �L82! ���2��. 5��� 

�� N,��-.� �28( #4-.� ��� N���2��. 	�\�� ����� N��;�! D-C N,��2. H�-EC �� 	2% ���+� N���2��. 

�6�L! �� ����� Ny��.� �� N�1��� ,��E1 ?
+ ( �)%�� ( ...�� ���+ ,��-.� �r2� ��2�  ( ,|���)5%�

N,�����$1387:259.(  
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�6�8 �� ���2��. ( �;��8 �E��� ��% ,��-.� ���+ �� H)E� �� �21 .H�6�%���1 	�$ ��26)62'! 	�$

���2$�����1 �� 562\� N	�/��� N����-8� 	�$,�%� Y�����% �6�EP �� 	����2.�� ,���� N�{��!�� 	�$
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�� 	�-M�� Y�1 ( 5��% ��6����� .�M: �'�8 ��F�6� 	�$ W6�� A����� 	��bF��r�! ���%� �$ ��  ,��{�:�

�� .5%� 3�(�� 5+�6�� �6�K� �6� �6�K� ���� �� �21 �C ���! ��|2{ Y�� �� �6(�O! (  Y��2"2�

���%�f�� �� 	� �6 5+�6�� ,��{�:� �� Y��2"2� �2Cb� ��r�! �� ���bF .��  /2LB� 	�;� 	�K� Y|2
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3�*� 	�$ ,��{�:� �� 3�(�� �� N�������%)�E$�1387:125.(  

3�*� �*6� &��� ��+ 5��� �� �F@6( �6 �2.�� �-�O:1 ( ���(� 	�$�6� .�1�� �'d�� �C ��+ �� 

���2��. N�;��8 ( ����� N5��$� ����� �-:�12. ( ����� ��;�! �� �EC �� ���2! �� X��O! ��+ 

����� N��K;�)�1�� �r��12:1382)!�C .( ( ,�����$ (� �� �6� �0�-� 5%� �E-+�6  ���6� ! �C ���� �� 5�;�8 

N,�6���+ Xn4� �F���+� ( Y)� QB� ��6�� �� ,�M� �� )�E$�Kurtz, et al., 1991: 543-555 .(

&�-+ ( ,�����$ )�� �� ��%� ����O� �� 150 �� ,�28 N,����. w�� �(�� H4-.� �F���+� �%�%� �� �(�� 

50 ���� ( H4-.� ��-%� �� Q� �
��% PTSD) ��( 20 ���� 3��)F ���2�� .�� �;��<� ,T �$ 27 

���� ,�6���+ �� /��=� �MC�2. �E-1�� �C �6� l�!��� 5�;"( 	������ �.�� �� �6� ���+� 5%� . ��LP

�F@6( ,�(� �-.�E1 �*6� &��1 Y)� QB� N��6�� ,�� + H�-EC N2*6� 3(� �'�� � �r2��� ,2��C ( H�-EC 

,(�� �� )5%�Fetel, et al., 1992: 152-159.(  

 XL� &������1 9;" �*6� Y���� .5%� ���+ z�;� �� �6 	���+ ,��-.� �� ����-8� ( �-6��� 	�$

D6 �� �!�� 	�6� �'C �� 56�(�
� 	�$ �;��8 �� X�KE! ���� ( ���+� 	�$(��T ( �(�F �$ �� N������ 

��'� ?�� �� �$ N)�P �� X$ ,��2. �<��� ��� #�$ �$ ( ����-%� 	��� i(�M� &6�%( �� �L�T �� �� �K� 

�� ���F .�� �K� N�!�� #��
�� �� �� Y(�B! ��� 	�$ �)�*�� �'�� �;�E� �� NhE$�+ ( Y������ � 
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�6� �)�*�� �$ �� �28( �� �6T  .(� �Cb-� �� �21 �C �6� Y������ �� ��*6�� ( �M= ����-8� ���+� �-���( 

5%� .�� �K� N�!�� ��2�T X$�� ��2� �*-��1 ��-.�% �*E$�+ 5%� .�6� 5�;"( �-=( ?�� �� �6T 

�C ��� #�$ �$ 	�$��0E$ ( �*E$�+ )�$���� ( 3��� 	�$ ����-8� (( Y������ �282� �� �$ �M= 

Y(�B! N����-8� ?��+ �28( �-1�� �1�� .�� D6 �;��8 N���6�� ��� #�$ 	�$ ����-8� - �*E$�+ (  ���

	�$ �-+�6b� ��1 ��2�� 	��� ����-%� �� ,T H��;! �28( ���� .��2�T �-=( i(�1 �� �C �21 �6� N�<��� 

�� X$ N�M:��=T)��2:�1388:51.(  
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Abstract 

The purpose of this study was to investigate the causes and motivations of 
girls escaping from home and trying to study the phenomenon of escape from 
different aspects.This study was conducted in a qualitative manner with 
content analysis technique. In this study, in-depth interviews were conducted 
with 10 girls who fled their homes in 1398   And they were filing in the 
welfare and law enforcement agencies, in-depth interviews were conducted 
and in a few stages, the materials were categorized and analyzed . We also 
interviewed a number of social welfare and emergency experts in Amol and 
Sari and a number of Amol and Sari police experts on the causes and causes 
of girls' escape from their homes. The results of the present study were 
classified into four main categories: family, individual, community, and 
supportive organizations. The results of the study indicate that the family as 
the first and most important institution of society has an important role in the 
upbringing and socialization of children with collective standards and values 
And in the event of a malfunction or incorrect operation, the consequences 
for children will be awaiting. The second factor is the personality and 
personality traits that will respond to family And social problems The third 
factor is the community and its elements that play an important role in 
exacerbating or reducing the damage to children. Ultimately, support and 
advocacy organizations will play an important role in moderating, 
rehabilitating, reforming, and re-socializing the affected person if the 
inefficient family and individual personality and community environment are 
shaken. 
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